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& H WiE DB HE | KH | /MH il
o 2100 | 900 | 1,000 1
g 1,900 | 900 | 1,000 1
CE4=) 800 | 600 | 1,070 1 1
= 650 | 650 | 600 | 1
et 600 | 600 | 600 1
4R x6R 1,212 ] 1.818] 121 | 46 10
3R x6R 909 | 1,818 | 121 | 40 10
o 2Rx6R 606 | 1,818 | 121 | 16 6
4R x4R 1,212 | 1,212 | 121 4
3R x4R 909 | 1,212 | 121 2
3R x3R 909 | 909 | 121 4
#B/E () 363| 182 121| 44
H/E (2) 363 | 242 | 121| 44 44
BE #E (3) 363 | 242 | 182 44
BE (4) 484 | 363 | 242 44
#E (5) 480 | 330| 180| 38
3RE x6RIE 788 1818 5
3RE X 4Rz 788 1212 16
3RE x 3RIE 788 909 | 17
2R&E x 4Riig 485 1212 22 6
FER 2REx3RIE 485 909 | 22 6
2RE x2RIg 788 606 | 16 6
RE x4Rig 182 1212 22 6
R& x3RIg 182 909 | 22 6
RE x2Rig 182 606 [ 8
3R x12R 909 | 3,636 | 121 | 34
Ki—)LEY 904 | 3988 | 121 2
KA—ILIEE 1,212 | 2,121 121 3
KAR—ILIEEZEH A 1,212 | 2,121 121 1
KA—ILIEEZH B
% ML EEET 1,212 | 2121 | 121 1
Ealis= 1,212 1 909 | 121 1
FriEE  |BEIRIZ 1,000 | 909 | 121 1
{e¥t4ra= L=3,636 4
{E¥ESaIZER A L=2,560 1
e}t aSLER B L=1,446 1
HE 1,000 | 1,403 | 121 1
INR—)LTEE 1,212 | 2,424 | 142 2
BEMER 1212 | 2,727 | 121 1
REEEEDO 2,727 | 1%
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WFE 1
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RERE 2,424 13
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B AE—IIID &1 OX3. DF50, MK-V
RO |[FSATARIIY 2
ERXE 21,000 7,272 1 REEL—ILAt
R#E KAR—ILH94X 20,000 10,000 1
= B#E IMR—ILHA4X 14,000 8,000 1
B KKR—IL94X 20,000 10000 [ 1
By IhR—ILY4a4X 14,000 8,000 1
E3p;i:d 2,250 1,500 1 1
mRYUE |BIE 2,250 1500 | 1 1
g 2,250 1,500 1 1
£HE (1) 545 | 3,636 4
&M EfHHE (2) 545 | 1,818 4
A 600 | 600 30 8 |EIZRER
EAE |SEREAE (1) 700 | 750 1
= ERAEMRE (2) 600 | 600 1
L8 (1) 900 | L=14,544 5 4
a2y L8 (2) 900 | L=10,908 12 7 | EESE
L8 (3) 900 L=5,454 18 4
. RKk—ILHAX 20,000 | 20,000 1
eTY INR—ILHAX 14,000 | 14,000 1
HEEA (1) 17,000 | 4,400 2
%%ﬁ HEEA (2) 7,300 | 4,400 4
HEEA (3) 2,500 | 2,500 4
%bi A1) a—Ls 2mm 1,830 | 20,000 11
—hk
HYE 300 35| 1,450 1
FEREER 2E% 4
MR 3 2
ZR 710 | 410 | 1,770 | 2 2 |Fvzre—ft
PAT—T )L 909 | 1,818 3
BRI 1,200 | 1,800 | 1,800 | 80 fiafES% 3t
16 |OW O SEx2
= N 8 RIAT 8 BE X1
FUEHIN(TL—) 1,800 | 600 | 700 s mam SHAEx]
8 |h74x s aEx1
60 |LMW 30M) BE X2
TS 60 RTAT 30 BE X2
AFIFLTOT 50 |mAH 0M SEx1. 208 AEx1
20 |[RT7AT 408) BE x 3, 208 BE x1
R A R—F 1,800 | 900 | 1,800 [ 2 1
RIS (1) 1,000 3,939 1
B3I (2) 800 2,580 3 1
BI3L (3) 600 1,818 2 1
S RT1ERE 1,340 | 740 | 1,980 1 <= —AWP-30




